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Question 2: (4 points)

Perform and simplify the following:

S5x+3 2—Tx

1. — +x+1
3 2
Solution:
S5x+3 2—-Tx 2(5x+3) 3(2—Tx) 6(x+1)
— +x+1= - —
3 2 G G 6
_10x+6—06+21x+6x+06
6
_ 37x+6

6



2x—6 = x—23

2. 2 . 3
(x—2) x- —4

Solution:

2x —6 x—3 2x—6 x —4

— = . = 3
(x—2)° xT—4  (x—2) x—23
_ 2(x—3) . (x—2MWx+2)
(x —2)° x—3

C2Z(x—3)(x—2ZNx+ 2)
(x—2Mx—2)(x—3)
2(x+2)

(x—2)




ODuestiomn 3: (4 points)

Solve thhe following eguations:

1. 2_ =

N ~ + 4

S I freorrr s

= =
— —> Z(xw + 4) = 3x
N x4 =4
w2 w4+ 85 = [ X
w2 Py — B = — 5

— —

The solution set 1= { E}-



3xT —Sx+2=0

2.

Solutiorn:

A =b"—4dac
—(—5) — 432
=25—-24
=1
A > 0. then the equation has
t_—E:r+~..,||"f_"'u _:’.~+1_|:‘:’+_1
o 2a 6 6
- _—b—fA  5—-1_ 4 2
o 2 a 6 6 3

.
The solution set is { El}

=
i

real solutions:



ODuestion 4: (4 poinnts)
Solve the following inegualities:

1 2x —F _ 3x+1

-1 3

Solwtror s

2x — T CEAx+1
=
i 3

— 3 Z2Zx —T) = AN 3x+1)

— Ox — 21 == 12Z2x+ 4

25
S W =
—i
25
“—= W = — —
)

The solution set is




2. —2=3x—-5<7

Solution:

—2 =3 x—-5=7

The solution set 1s



Question 3:

1. Graph the lines y=2x+1and y=-x+2
and then shade the solutions of the system:

yElx+l

y2-x+2

Solution:

(4 points)

{ The Solution region




Solve thhe following swvsteirnn of eguations:

2.
I — v =1
N2y =5
S feefrore s
(B — 3» = 1 =1
_<LT+2_}-F=5 i
[(Gx — 23v = 2 Rl «— Z2ZR1
lTx+2v—= s R2
[T = 7 MRl «—— R1 + IR2
1x+=23 = s R2
(= 1
11+ 2yv=-=5
[ —

The soluution set 1s
fC1. 2>},



